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15 = H - IR A % IR A X F & lim =
1 ZRIEEE 57,976,398 56,786,530 1,189,868
1 PRGBS 30,062,600 29,792,100 270,500
2 FIBISHBE 786,350 786,350 0
3 B(1)FHEARFEE 520,150 346,450 173,700
4 BEEXRFEE 745,668 0 745,668
6 Fhith 25,861,630 25,861,630 Olo10As RERRRTAES
2 HBESE 0 0 0
1 PTASHBSE 0 0 0
3 1EHE 16,505,128 16,505,128 0
1 BIFHAEHS 16,505,128 16,505,128 0
2 HIFEEREBE 0 0 0
4 HULA 68,515 68,515 0
1 FEHARESE 68,515 68,515 O|BA—)L:4,715M . BEif: 63,800
2 FMi 0 0 0
= £t 74,550,041 73,360,173 1,189,868
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I8 = X HRTE & X W % * . % & =
1 BEMHE 69,166,373 69,166,373 0
1 XBE 10,699,720 10,699,720 Ox-/so-mmtee%
2 BIBE 58,466,653 58,466,653 0|4nnes
& 5 69,166,373 69,166,373 0
- IR A ¥ 88 73,360,173 M
- T HEBRE 69,166,373 H
-E5 R B 4,193,800 A £MAFEEEIFHLTEH




